y =arccos(x +1) — z y=—In(x+1) -1 y:—arccotg(x)+% y:‘gX _q y=cotg(2x)-1

Y Y Y Y Y

_ —2x+1 y = 2sin(x+ =) +1 y=42-1 y=—x*+4x+5 y =|-2x+4/-1
X+3 2
Y Y Y Y Y




y=arccos(x+1)—-x

y=—In(x+1)-1 y= —arccotg(x)+§ y=cotg(2x) -1
y y y y ! {
! f 1
77/2 pre = :
Rﬂ; ; - \ i ; 7/’/ 7S '/’a\ & &
. t T e |
gl | { i
’Jif 4"2 OO/ :D\(:,/g/”ﬂx) D{«Qj 77) in R ) wa/<\€£ /M
j =3 \, / NV = : }w‘. R L s 0 £ £
:? f !J? ( ) A HU/ H:f 'E
_—2x+1 7 z y=2sin(x+=)+1 y=47%-1 y==—x2+4x+5;-(x~5,yx*4) y=l2x+4-1= )«
ol *3 .

y Y
“ / / TBLR \
o
‘)f - -'7 :1 v.' = / (/\ \ / X

9= RAE3Y 4= =R i o )
{& RAG-2% HY - /;F}/ HK ( iy +(/J> H& (~co D7 HK =1y foo




y =arccos(x—1) + y =In(-x) -1 y=arccotg(—x)—% y:‘—ex+ﬂ y =—cot g(2x) +1
Y Y y y Y
—2X+1 . V4
= = e =|-2x-4-1
2X+3 y =sin(x 2) 1 y=-4%-1 y=x"—-5x+6 y=| |

Y




y=—cotg(2x)+1

~

w
y = arccos(x —1)+ 7 y =In(-x) -1 y =arccot g(—x) e y= \_ F ll
L \ /2
" ‘F—\? N L= 3 ST .
o & |
2 O
[ 5 NC . g /. 7
D‘? = 0,4/ DK = (/“"vaf)) p\( 1% Uf = \ “Df /R\{% j/:l_xf
Jp-< T, A7 g B | Hp=<0,¢c0) Hp-R
4 = B B ek He= 'K (T 1) d d
N Q [{j -\ )
-2x+1 N(,Zf L | oy p=x?—5%+6 = (X J)(N)y |-2x—4|-1 ‘{’VU/
e s a3 ;
e i y : /
- T 7 3 -2 \\ \-,z
| ; VL | . - X
-5 TN 0 By ‘ | N -S\/~2
R 5 aak < e Vi1,
i 1 -7 o/ -
| KVH
~g - P . - f == P
A - R\’i AR =R | Df =R D
g p=<007 o= (o1 H =5, +o2) e ey
N




y=arcsin(x-1) -« y=—In(x-1)+1 y=—arctg(x)—% y:‘—e*X+ y =2—cot g(2x)

Y Y y y Y
_ x-1 1 x-2
=113 y =2cos(x+7)+1 y:—(gj +1 y=—X2+X+2 y=|-x+3-1
Y Y Y y Y




y=arcsin(x—1)-7

y=—In(x-1)+1

¥

,,,,,,,,

y=2—uﬁg@x)

¥ j {f

Y
4 o
i i X
L .
oL
=
-
>
7
DV = /\ U, L/
J
2 i
S~ 7 4l ;%
i 2ol -3 7, TR S

y=2cos(x+7m)+1

(v

L=
-4 27
\/Z (_)( ,1“{
e
N
1

¥

Sl

/
J/J
/
i /’
/
i
be= RAS-3T
DX = J
i)
i Ai
N/ T < /]
A
d




